Converting Between Inches and Feet
Practice Answer Key

The following measurements are in inches only. Convert them to measurements
in feet and inches. Some answers might be in feet only. For example: 24” =2’ (no
inches).

1. 27" =2"3"
2.19"=1"7"
3. 77" =6"5"

4. 102" =8 6"

5. 47— =3"11—
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The following measurements are in feet and inches. Convert them to
measurements in inches only.

8. 92" =110"

9. 33’ 8" =404"

10. 18" 1" = 217"

11. 43’ 10——526"—

1.8 2 =96" 2
4

13" 3"

13.13' 2= =158"— !

14, 7' 9— =158"— 137

”

15. 86’ 3— =1, 035"
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Find the perimeter for each of the following. Write your answer in feet and
inches and in inches only. Simplify your answer if necessary. Note: The drawings
are not to scale.

16 7/ 11n
= 40" 4"
12/ 3n

= 484"

17.
4" 10"
= 14'2"
2/ 311

= 170"
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18 10, 6" 5/ 4!!

2/ 711_’ *
I An = 53,
10/ 6" 5 4
2" 7" — = 636"
3, 1— ! _" 1"
16 6 2 3 3/ 11_6 N
1 l 5n l = 4'9, 87
4'3—="
8
8, 2 3!!
8
1n
12/ 4 1" = 5967
4
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20. 15'10 —

T 1"

. 43—

711 —
16

Find the answer for each of the following. Write your answer in feet and inches
and in inches only. Simplify your answer if necessary. Note: The drawings are not
to scale.

21.You are applying roofing material to a
commercial building. The lengths of material you
need are: 60’ 9”,72’ 37,65’ 11”, and 63’ 10”.
What is the total length of material you will
need? 262’ 9" 3,153"
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22.You have a spool of wire that is 79’ 2” long. A coworker cuts a piece of wire 7’ 11” long from
the spool. How much wire is left on the spool? Write your answer in feet and

inches. 71" 3" 855"

23.Two holes, one above the other, need to be cut in a wall to
install a bathtub faucet and spout. The center of the lower

hole (for the spout) is 21 ? from the floor. The center of

the upper hole (for the faucet) is 8 T above the lower hole.

How high is the center of the upper hole from the floor?

2'6~ 30~
8 8
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24 .Working on a plumbing job, you need a piece of pipe that is 34 ? long. The piece of pipe

that you have is 6’5 1_6 long. How much pipe will be remaining when you cut the piece

1" 1"
? "1 — —
youneed? 3’1 e 37 e

”

3
25.A kitchen being remodeled has a wall that is 8’ 5” wide. If a dishwasher 1" 11 T inches

wide is installed on one end of the wall, how much room will there be for cabinets along

1" 1"
that same wall? 6’ ST 77T

Image Credits

e Tradeswoman by Oregon Tradeswomen, Inc.

e Tradeswoman by Oregon Tradeswomen, Inc.

e RosaStripsRoofing by Oregon Tradeswomen, Inc.

e Canadian_shower_tap By Miguel Andrade (Own work) [Public domain], via Wikimedia Commons

@@@@ 5;7 : o "~ Answer Key - Instructor Support Material  Page 7 of 7
e Oregon Tradeswomen, Inc.



